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RIER D B IRREERE

B3 —2 BEMICERTALEESNAERICEITHHIE1/3) _ _ _ REEE | 2023
C aEaEDhE | BmEE | 202AN5061 1 Bm& | = Ji ] [ miale =0 iha
- SERMOTIRICHEET 514 SERMA
Al TREOBHOESEHDKRES TREDOHBEHIEADKRES TREOBHOESEHDKRES TREFOHBEEIEADKRES
5 X 4 ‘e | MWD LOERE | ADKES X 4 TwALOKF [ B | AOKES X 4 Be | LmDLOES | NOREE X 4 IRACOES [ & | hORES
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
: 100kN/mM%Z#B 2 % - -~ - —|3mZiEZ D -~ - - — | 100kN/MZ#EZ % - -~ - —|3mZE#B2D -~ - - -
Zhllis 1.00( 0.00 ~ 6.19 7765 | Fhkist | 000 ~ 0.00| 1.62 8.18 Zhls 1.00 | 500 ~ 750 7765 | Fnklst | 5.00 ~ 750 | 1.62 8.18
) 100kN/ Mm% 2% 1.00 | 0.00 ~ 135 12044 |3m%Ei#BZ % — ~ - - —| 100kN/m%#8%%| 1.00 |10.76 ~ 1565 12044 |3m%EBZ5 -~ - - -
Fh st 1.00| 135 ~ 9.13 100.00 | #htblst | 000 ~ 9.13| 2.27 11.46 FnLs 1.00 ] 500 ~ 10.76 100.00 | ZHhllst | 500 ~ 1565 2.27 11.46
3 100kN/mM#E#BZ % 1.00| 000 ~ 135 120.45 |3mZEHE 25 -~ — — —| 100kN/m%#E%%| 1.00 |10.76 ~ 1565 12045 |3m%E#B 25 -~ — — .
ZhLst 1.00| 1.35 ~ 913 100.00 | ZhList | 000 ~ 9.13| 2.09 10.55 ZhList 1.00 ] 500 ~ 10.76 100.00 | Zhlist | 500 ~ 1565 2.09 10.55
4 100kN/m%#E2%| 1.00| 000 ~ 1.00 115.03 |3m%Ei#EZ 5 -~ — — —| 100kN/mi%i#82% | 1.00 [10.67 ~ 13.65 115.03 [3mZEEZ5 -~ - — -
Zh s 1.00( 1.00 ~ 879 100.00 | ZhList | 000 ~ 879 | 2.27 11.49 ZFhLis 1.00 | 500 ~ 10.67 100.00 | =hllst | 500 ~ 13.65 | 2.27 11.49
5 100kN/m#E#B 2% 1.00( 0.00 ~ 1.00 115.04 |3m%Ei#BZ % _~ . - —| 100kN/m%#8%%| 1.00 |10.67 ~ 13.65 115.04 |3m%E#BZ 5 -~ - - -
Zhrst 1.00| 1.00 ~ 8.79 100.00 | #hbist | 000 ~ 879 | 2.27 11.49 ZhLst 1.00 | 500 ~ 10.67 100.00 | #hLlst | 500 ~ 13.65 | 2.27 11.49
6 100kN/mM#E#BZ % 1.00| 000 ~ 0.88 113.20 |3m%E#BZ % -~ — — —| 100kN/m%#E%%| 1.00 |10.53 ~ 13.13 113.20 |3m%E#EZ 5 -~ - — .
ZhLs 1.00| 088 ~ 8.67 100.00 | #HhbList | 000 ~ 867 2.20 11.14 Zhlist 1.00 ] 500 ~ 10.53 100.00 | Zhllst | 500 ~ 1313 | 2.20 11.14
. 100kN/m%#%%| 100 000 ~ 167 12551 |3mZEi#Ex% -~ - - — | 100kN/ %% % | 1.00 |10.81 ~ 16.46 12551 |3m%E#EZ % -~ - - .
Zhris 1.00| 1.67 ~ 945 100.00 | ZhList | 000 ~ 945 251 12.68 Zhlist 1.00 | 500 ~ 10.81 100.00 | Z#+klst | 5.00 ~ 16.46 | 2.51 12.68
8 100kN/mM%Z#B % % - -~ - —|3mZEZD -~ - - —| 100kN/mM%#B 2% - -~ - —|3mZE#BZD -~ - - -
ZhLis 1.00| 0.00 ~ 7.66 98.13 | #hklst | 000 ~ 766 | 2.17 10.95 ZhLst 1.00] 5.00 ~ 10.21 98.13 | #nklst | 5.00 ~ 10.21 | 2.17 10.95
9 100kN/M%Z#E % % — - ~ - —|3mZEEZD -~ - - —| 100kN/M%#8% % — -~ - —|3mZE#BZD -~ - - -
Zh s 1.00| 000 ~ 6.49 81.78 | =hklst | 000 ~ 6.49 | 1.88 9.50 ZFhLlst 1.00 ] 500 ~ 8.00 81.78 | =hlLlst | 500 ~ 800 | 1.88 9.50
10 100kN/M%Z#E 2 % . -~ — —|3mZEEZD -~ - - —| 100kN/ %2 % - -~ — —|3mEHEZS -~ - - -
Zh s 1.00| 000 ~ 6.24 7844 | Fhllst | 000 ~ 6.24 | 1.80 9.10 Zhlls 1.00] 500 ~ 7.30 7844 | FhlLlst | 500 ~ 730 1.80 9.10
» 100kN/M%Z#BZ % - -~ - —|3m%Ei#BZ2% -~ — - —| 100kN/M%#8% % - -~ - —|3mE#BZ5 -~ — - -
ZhList 1.00| 0.00 ~ 467 5819 | #hbLlst | 000 ~ 467 1.84 9.31 Zhlst 1.00 | 500 ~ 5.00 58.19 | #xlist | 500 ~ 5.00 | 1.84 9.31
” 100kN/mMZ#2 %% - -~ - —[3mEIEZS - ~ - - — | 100kN/ MZi#B % % - -~ - —|3mZEEZS -~ - - =
Zh st 1.00| 000 ~ 477 5950 | #hList | 0.00 ~ 0.00 | 1.73 8.77 FhLst 1.00] 500 ~ 5.00 5950 | #hnklst | 5.00 ~ 5.00 | 1.73 8.77
13 100kN/M%Z#E2 % . - ~ — —|3mZEiEZD -~ - - —| 100kN/MZE#E 2% - -~ — —|3mZE#EZS -~ - - -
Zhis 1.00( 0.00 ~ 463 57.71 | #hbist | 000 ~ 0.00| 1.60 8.10 Zhlis 1.00 | 500 ~ 5.00 5771 | #xnlist | 500 ~ 5.00 | 1.60 8.10
" 100kN/mM%Z#B 2 % - -~ - —|3m%Ei#BZ5 -~ — - —| 100kN/m%#8% % - -~ - —|3mE#BZ5 -~ — — —
ZhnList 1.00 [ 0.00 ~ 536 66.91 | Z#list | 000 ~ 536 | 1.85 9.36 Fhlis 1.00 | 500 ~ 6.00 66.91 | ZHxList | 500 ~ 6.00 | 1.85 9.36
15 100kN/ Mm% 2% 1.00| 0.00 ~ 0.98 114.76 |3mZHEZ 5 -~ - — —| 100kN/m%#8%%| 1.00 |10.53 ~ 13.49 11476 |3mZEZ 5 -~ — — .
Zh s 1.00| 098 ~ 8.77 100.00 | #h bl | 000 ~ 877 | 2.19 11.09 ZhLsh 1.00 | 500 ~ 10.53 100.00 | ZHhList | 500 ~ 13.49 | 2.19 11.0_9
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&2 N B | THROLOERE [ AOKEE | o, | TRELOKT | B | DOREE N BE [ IRAODORES [ AOREE | o . | LRALOES | BE | DOKEE
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
16 100kN/m%#8%%| 1.00| 000 ~ 064 109.52 |3mZi#BZ 5 -~ — - —| 100kN/mi%#82%| 1.00 [10.68 ~ 1248 109.52 [3mZ#BZ5 -~ - — -
Zhlis 1.00 | 0.64 ~ 843 100.00 | £hllst | 000 ~ 843 | 2.28 11.51 zhlis 1.00 | 500 ~ 10.68 100.00 | #1Lklst | 5.00 ~ 1248 | 2.28 11.51
17 100kN/ Mm%z 2% 1.00( 0.00 ~ 0.12 101.72 |3m%E#E 25 — ~ - - —| 100kN/m%#8%%| 1.00 |1253 ~ 12.89 101.72 |3m%E#BZ 5 -~ - - -
ZFh s 1.00| 012 ~ 790 100.00 | #htblst | 000 ~ 790 | 252 12.76 FhnLs 1.00 | 500 ~ 1253 100.00 | ZHhbllst | 500 ~ 1289 2.52 12.76
18 100kN/m#Z#%%| 1.00| 000 ~ 0.12 101.70 |3m%#EZ5 - ~ - — — | 100kN/i%i#8%% | 1.00 |12.53 ~ 12.89 101.70 |3mZ# x5 -~ - - .
Zh st 1.00| 012 ~ 790 100.00 | ZhList | 000 ~ 790 | 2.05 10.34 ZhLis 1.00 ] 500 ~ 1253 100.00 | Zhlist | 500 ~ 1289 | 2.05 10.34
19 100kN/m%#E2%5| 1.00| 000 ~ 0.24 103.46 |3m%Ei#EZ 5 -~ — — —| 100kN/mi%i#82%| 1.00 [12.18 ~ 12.89 103.46 [3mZEHEZ5 -~ - - —
ZhLis 1.00| 024 ~ 802 100.00 | ZhList | 000 ~ 802 | 2.02 10.21 ZhLis 1.00] 500 ~ 12.18 100.00 | Zhllst | 500 ~ 1289 | 2.02 10.21
20 100kN/m%#E%%5| 1.00| 000 ~ 0.24 103.46 |3mZi#BZ5 -~ - - —| 100kN/m%i#B%%| 1.00 [12.18 ~ 12.89 103.46 [3mZ#BZ5 -~ - - -
ZhLst 1.00| 024 ~ 802 100.00 | #hbist | 000 ~ 8.02| 249 12.60 ZhLst 1.00 ] 500 ~ 12.18 100.00 | #hList | 500 ~ 1289 2.49 12.60
91 100kN/mM%E#BZ % 1.00| 000 ~ 1.03 115.44 |3m%E#B %% -~ — — —| 100kN/m%#E%%| 1.00 |10.53 ~ 13.69 115.44 |3m%E#BZ5 -~ - - .
ZhLs 1.00| 1.03 ~ 8.1 100.00 | #HhList | 000 ~ 881 | 2.17 10.98 Zhlis 1.00 ] 500 ~ 10.53 100.00 | Zhllst | 500 ~ 13.69 | 2.17 10.98
2 100kN/m%#E2%| 1.00| 000 ~ 1.30 119.65 |3m%iEZ 5 -~ — — —| 100kN/mi%i#82%| 1.00 [10.56 ~ 14.65 119.65 [3mZE#E 25 -~ - — -
ZhLis 1.00 | 1.30 ~ 9.08 100.00 | Z+List | 000 ~ 908 | 2.23 11.27 Zhlist 1.00 | 5.00 ~ 10.56 100.00 | =4 Li4t | 500 ~ 1465 2.23 11.27
23 100kN/m#Z#B 2% 1.00 | 0.00 ~ 130 119.65 |3m%Ei#BZ % _~ . - —| 100kN/m%#8%%| 1.00 |10.56 ~ 14.65 119.65 |3mE#B %5 -~ - - -
ZhLis 1.00| 1.30 ~ 9.08 100.00 | #hbLls | 000 ~ 9.08| 2.23 11.27 ZhLst 1.00 | 500 ~ 10.56 100.00 | #nLlst | 5.00 ~ 14.65 | 2.23 11.27
94 100kN/mM%E#BZ % 1.00| 000 ~ 1.70 126.11 |3mZ#E 25 -~ — — —| 100kN/m%#E%%| 1.00 |10.70 ~ 16.49 126.11 |3m%E#BEZ5 -~ - - .
Zh s 1.00| 1.70 ~ 949 100.00 | #hlist | 000 ~ 949 | 2.28 11.53 FhList 1.00 ] 500 ~ 10.70 100.00 | ##klst | 5.00 ~ 16.49 | 2.28 11.53
25 100kN/mM%E#EZ % 1.00| 000 ~ 1.66 12541 |3m%EFi#BZ % -~ — — — | 100kN/m%# %% | 1.00 |10.53 ~ 16.24 125.41 |3mE#EZ 5 -~ - - .
Zh s 1.00| 166 ~ 945 100.00 | Zhtbist | 000 ~ 945| 2.39 12.07 ZhnLis 1.00 | 500 ~ 10.53 100.00 | ZhLlst | 500 ~ 16.24 | 2.39 12.07
26 100kN/m%#8%%5| 100 000 ~ 166 125.41 |3m%E#E2 5 -~ - — —| 100kN/m#%#8%%| 1.00 (1053 ~ 16.24 125.41 [3m%E#EZ 5 -~ - - -
ZhLust 1.00 1.66 ~ 945 100.00 | ZhList | 000 ~ 945 | 2.39 12.07 Zhls 1.00 | 500 ~ 10.53 100.00 | Zhrist | 500 ~ 16.24 | 2.39 12.07
97 100kN/mM%E#BZ % 1.00| 000 ~ 140 121.34 |3mZ{EZ 5 -~ — — —| 100kN/m%#E%%| 1.00 |10.59 ~ 15.43 121.34 |3m%E#E 25 -~ - — .
Zh st 1.00| 140 ~ 9.19 100.00 | #hbList | 000 ~ 9.19| 2.32 11.71 FhLst 1.00 ] 500 ~ 10.59 100.00 | #hklst | 5.00 ~ 1543 | 2.32 11.71
28 100kN/m%#%x%| 100| 000 ~ 1.19 118.03 |3mZE#E x5 -~ - — —| 100kN/mi%#82%| 1.00 [10.63 ~ 1461 118.03 |3mE#EZ 5 -~ - - =
Zhis 1.00| 119 ~ 8.98 100.00 | £hbLlst | 000 ~ 898 | 2.12 10.72 Zzhlls 1.00 | 500 ~ 10.63 100.00 | ZhList | 500 ~ 1461 2.12 10.72
29 100kN/miZ#%45| 1.00| 000 ~ 178 127.37 [3mZi#BZ 5 -~ - - — | 100kN/ %% 4| 1.00 |10.84 ~ 17.04 127.37 |3m%E#BZ 3 -~ - - -
ZhnList 1.00( 1.78 ~ 957 100.00 | Z#List | 000 ~ 957 | 252 12.72 Fhlist 1.00 | 500 ~ 10.84 100.00 | #HList | 500 ~ 17.04 | 2.52 12.72
30 100kN/ Mm% 2% 1.00| 0.00 ~ 0.97 114.55 |3mZHEZ 5 -~ - — —| 100kN/m%#8%%| 1.00 |10.60 ~ 13.47 11455 |3mZEZ 5 -~ — — .
Zh s 1.00| 097 ~ 875 100.00 | #hbList | 000 ~ 875 2.25 11.36 ZhLs 1.00 ] 500 ~ 10.60 100.00 | ZHhList | 500 ~ 13.47 | 2.25 11£
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RIER D B IRREERE

B3 —2 BEMICERTALEESNHERICET HHIEG/I) _ _ _ | REEE | 2023
C ElEaEDE | BmEE | 202AN5061 1 [ Bm& | = Ji ] [ miale = e
- SERMOTIRICHEET 514 SERMA
A TREDBHOEIEADKRES TEREDHBEHIENDKRES TEREOBHOEIEADKRES TREOHBESIEADKRES
5 X 4 ‘e | MWD LOERE | ADKES X 4 TALOKF [ B | AOKES X 4 Be | LmhLOES | NOREE X 4 IRACOES [ & | hORES
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
31 100kN/m%#%%5| 1.00| 000 ~ 1.44 121.98 |3mZi#EZ 5 -~ — - —| 100kN/m%#82%| 1.00 [10.59 ~ 1526 12198 [3mZ#BZ5 -~ - - -
Zhllis 100 1.44 ~ 923 100.00 | £hblst | 000 ~ 9.23 | 244 12.31 zhlis 1.00 | 500 ~ 10.59 100.00 | #4Lklst | 5.00 ~ 15.26 | 2.44 12.31
39 100kN/ Mm% 2% 1.00( 0.00 ~ 1.61 12468 |3m%Ei#BZ % — ~ - - —| 100kN/m%#8%%| 1.00 |10.60 ~ 16.00 12468 |3mEBZ5 -~ - - -
Zh s 1.00| 161 ~ 940 100.00 | Fhtblst | 000 ~ 940 244 12.35 FhnLs 1.00 ] 500 ~ 10.60 100.00 | ZHhllst | 500 ~ 16.00 | 2.44 12.35
33 100kN/mM%E#BZ % 1.00| 000 ~ 1.61 124.68 |3mZEHE 25 -~ — — —| 100kN/m%#E%%| 1.00 |10.60 ~ 16.00 12468 |3mE#BZ5 -~ — — .
Zh s 1.00| 161 ~ 940 100.00 | ZhList | 000 ~ 940 | 2.25 11.37 ZhList 1.00 ] 500 ~ 10.60 100.00 | Zhlist | 500 ~ 16.00 | 2.25 11.37
24 100kN/m%#E2 5| 1.00| 000 ~ 0.88 11311 [3mZiBZ 5 -~ — — —| 100kN/ %825 | 1.00 [11.42 ~ 1414 11311 |3m%Z B2 5 -~ - — -
Zh s 1.00 0.88 ~ 8.66 100.00 | ZhList | 000 ~ 866 2.41 12.18 ZFhLis 1.00 ] 500 ~ 11.42 100.00 | #hklst | 5.00 ~ 1414 | 2.41 12.18
35 100kN/mM%Z#B % % - -~ - —|3mZiBZ D -~ - - —| 100kN/mM%Ei#BZ % - -~ - —|3mZE#BZD -~ - - -
Zhust 1.00| 000 ~ 6.70 84.60 | #4xLkist | 000 ~ 000 | 1.77 8.95 ZhLst 1.00] 500 ~ 8.10 84.60 | ThLlst | 500 ~ 810 1.77 8.95
36 100kN/mMZ#8 %% - -~ - —[3mE#EZ S - ~ - - — | 100kN/ MZ#BZ % — -~ - —|3mEHEZS -~ - - .
ZhLs 1.00| 000 ~ 6.70 84.60 [ =hList | 000 ~ 0.00| 1.77 8.95 Zhlist 1.00] 500 ~ 8.10 84.60 | =HLlst | 500 ~ 810 1.77 8.95
37 100kN/M%ZH#E2 % - -~ — —|3mZEEZ S -~ — — —| 100kN/M%E#E 2% — -~ — —|3mEHEZS -~ - - -
Zhrisn 1.00( 0.00 ~ 477 5941 | Znlist | 000 ~ 000 | 1.76 8.88 ZhLis 1.00 | 500 ~ 5.00 5941 | F+xList | 500 ~ 5.00 | 1.76 8.88
100kN/mM%Z#B % % ~ 3ImEHEZD ~ 100kN/mM%Z#BZ % ~ 3mEHEZD ~
Zhilst ~ Zhiis ~ Zhrist ~ Fhilst ~
100kN/M%Z#E % % ~ 3ImEHZD ~ 100kN/mM%Z#EZ 5 ~ 3mEBAD ~
Fhlilst ~ Zhiis ~ Zhilst ~ Thllst ~
100kN/mM%Z#E 2 % ~ ImEREZD ~ 100kN/mMi%ZH#8Z % ~ ImERZD ~
ZhiList ~ Zhilsn ~ Zhiist ~ Zh Lot ~
100kN/M%Z#B 2 % ~ 3ImEHZD ~ 100kN/mM%ZH#BZ % ~ 3mZHBAD ~
Fhllst ~ FhLlst ~ Fhilst ~ zThhist ~
100kN/mMZ#8Z % ~ ImEFHEZD ~ 100kN/mM%Z#8Z % ~ 3mEEZAD ~
ZhiList ~ Fhiisn ~ ZhLst ~ Fhlist ~
100kN/M%Z#E 2 % ~ 3mEHEZD ~ 100kN/mM%Z#BZ % ~ ImERZD ~
ZhLst ~ Fhilst ~ Zhiist ~ ZhList ~
100kN/mM%Z#B 2 % ~ 3mEHZD ~ 100kN/mM%Zi#BZ 5 ~ 3mZHBAb ~
Fhlist ~ Fhllst ~ Fhilst ~ zhkist ~
100kN/ Mm% %% ~ ImEHEZD ~ 100kN/mMZ#2Z.% ~ 3ImEEZD ~
Zh st ~ Zhiisn ~ Zhiist ~ zhList ~




